Dr. Lisa Schmit LEA 520-521 Research Method/Lab Group 2 (022)

Not Answered 2			Count	Percent
Strongly Agree 16	The instructor is knowledgeable regarding	the course content.		
Strongly Agree 16 88.89 % 1 5.56 %	(Not Answered)		1	5 56 %
Total Responses 1				
Total Responses 18				
Not Answered 1	Agree		<u>'</u>	
Not Answered 2		Total Responses	18	100 %
Strongly Agree	The instructor covers the course content a syllabus.	s outlined in the course		
Strongly Agree 15 83.33 % 1 5.56 % Total Responses 18 100 % He instructor integrates course content with a broader nowledge of life and other courses.	(Not Answered)		2	11.11 %
Agree 1 1 5.56 % Total Responses 18 100 % the instructor integrates course content with a broader nowledge of life and other courses. (Not Answered) 2 11.11 % Strongly Agree 15 83.33 % Agree 15 5.56 % Total Responses 18 100 % the instructor is able to communicate the course content clearly. (Not Answered) 1 5.56 % Strongly Agree 15 83.33 % Agree 15 83.33 % Agree 17 15 83.33 % Agree 17 15 83.33 % Agree 18 100 % Total Responses 18 100 % Total Responses 18 100 % the pace of the course is appropriate for the course content and tudent ability. (Not Answered) 1 5.56 % Strongly Agree 13 72.22 % Agree 13 72.22 % Agree 14 22.22 % Total Responses 18 100 % the instructor sets high standards for student achievement. (Not Answered) 1 5.56 % Strongly Agree 15 83.33 % Agree 15 83.33 % Agree 2 11.11 % Total Responses 18 100 % the course syllabus is detailed enough to be helpful. (Not Answered) 2 11.11 % Strongly Agree 14 77.78 % Agree 14 77.78 % Agree 14 77.78 % Agree 11.11 %				
Total Responses 1	- · -			
Not Answered 2		Total Responses	18	100 %
Strongly Agree 15 83.33 % 1 5.56 % Total Responses 18 100 % Strongly Agree 15 83.33 % 2 11.11 % Total Responses 18 100 % To	The instructor integrates course content w knowledge of life and other courses.	rith a broader		
Agree 1 5.56 % Total Responses 18 100 % he instructor is able to communicate the course content clearly. (Not Answered) 1 5.56 % Strongly Agree 15 83.33 % Agree 2 11.11 % Total Responses 18 100 % he pace of the course is appropriate for the course content and tudent ability. (Not Answered) 1 5.56 % Strongly Agree 13 72.22 % Agree 13 72.22 % Agree 14 22.22 % Total Responses 18 100 % he instructor sets high standards for student achievement. (Not Answered) 1 5.56 % Strongly Agree 15 83.33 % Agree 11.11 %	(Not Answered)		2	11.11 %
Total Responses 18	Strongly Agree		15	83.33 %
Not Answered 1 5.56 % Strongly Agree 2 11.11 %			1	5.56 %
Not Answered 1 5.56 % Strongly Agree 15 83.33 % Agree 2 11.11 %		Total Responses	18	100 %
Strongly Agree 15 83.33 % 2 11.11 %	The instructor is able to communicate the	course content clearly.		
Strongly Agree 15 83.33 % Agree 2 11.11 % Total Responses 18 100 % the pace of the course is appropriate for the course content and tudent ability. (Not Answered) 1 5.56 % Strongly Agree 13 72.22 % Agree 4 22.22 % Total Responses 18 100 % the instructor sets high standards for student achievement. (Not Answered) 1 5.56 % Strongly Agree 15 83.33 % Agree 2 11.11 % Total Responses 18 100 % the course syllabus is detailed enough to be helpful. (Not Answered) 2 11.11 % Strongly Agree 14 77.78 % Agree 2 11.11 %	(Not Answered)		1	5 56 %
Agree 2 11.11 % Total Responses 18 100 % he pace of the course is appropriate for the course content and tudent ability. (Not Answered) 1 5.56 % Strongly Agree 13 72.22 % Agree 14 22.22 % Total Responses 18 100 % he instructor sets high standards for student achievement. (Not Answered) 1 5.56 % Strongly Agree 15 83.33 % Agree 15 83.33 % Agree 16 11.11 % Total Responses 18 100 % he course syllabus is detailed enough to be helpful. (Not Answered) 2 11.11 % Total Responses 18 100 % Agree 2 11.11 % Total Responses 18 100 %				
Total Responses 18				
he pace of the course is appropriate for the course content and tudent ability. (Not Answered) 1 5.56 % Strongly Agree 13 72.22 % Agree 4 22.22 % Total Responses 18 100 % he instructor sets high standards for student achievement. (Not Answered) 1 5.56 % Strongly Agree 15 83.33 % Agree 15 83.33 % Agree 11.11 % Total Responses 18 100 % he course syllabus is detailed enough to be helpful. (Not Answered) 2 11.11 % Strongly Agree 14 77.78 % Agree 14 77.78 % Agree 2 11.11 %	. 9	Total Responses	18	
(Not Answered) 1 5.56 % Strongly Agree 13 72.22 % Agree 4 22.22 % Total Responses 18 100 % he instructor sets high standards for student achievement. (Not Answered) 1 5.56 % Strongly Agree 15 83.33 % Agree 2 11.11 % Total Responses 18 100 % he course syllabus is detailed enough to be helpful. (Not Answered) 2 11.11 % Strongly Agree 14 77.78 % Agree 2 11.11 %	The pace of the course is appropriate for the	-		
Strongly Agree 13 72.22 %	student ability.			
Strongly Agree 13 72.22 % Agree 4 22.22 % Total Responses 18 100 % he instructor sets high standards for student achievement. (Not Answered) 1 5.56 % Strongly Agree 15 83.33 % Agree 2 11.11 % Total Responses 18 100 % he course syllabus is detailed enough to be helpful. (Not Answered) 2 11.11 % Strongly Agree 14 77.78 % Agree 2 11.11 %	(Not Answered)		1	5.56 %
Agree 4 22.22 % Total Responses 18 100 % he instructor sets high standards for student achievement. (Not Answered) 1 5.56 % Strongly Agree 15 83.33 % Agree 2 11.11 % Total Responses 18 100 % he course syllabus is detailed enough to be helpful. (Not Answered) 2 11.11 % Strongly Agree 14 77.78 % Agree 2 11.11 %				
Not Answered 1 5.56 % Strongly Agree 15 83.33 % Agree 2 11.11 %				
(Not Answered) 1 5.56 % Strongly Agree 15 83.33 % Agree 2 11.11 % Total Responses 18 100 % he course syllabus is detailed enough to be helpful. (Not Answered) 2 11.11 % Strongly Agree 14 77.78 % Agree 2 11.11 %		Total Responses	18	100 %
Strongly Agree 15 83.33 % Agree 2 11.11 % Total Responses 18 100 % he course syllabus is detailed enough to be helpful. (Not Answered) 2 11.11 % Strongly Agree 14 77.78 % Agree 2 11.11 %	The instructor sets high standards for stud	dent achievement.		
Strongly Agree 15 83.33 % Agree 2 11.11 % Total Responses 18 100 % he course syllabus is detailed enough to be helpful. (Not Answered) 2 11.11 % Strongly Agree 14 77.78 % Agree 2 11.11 %	(Not Answered)		1	5 56 %
Agree 2 11.11 % Total Responses 18 100 % he course syllabus is detailed enough to be helpful. (Not Answered) 2 11.11 % Strongly Agree 14 77.78 % Agree 2 11.11 %				
Total Responses 18 100 % he course syllabus is detailed enough to be helpful. (Not Answered) Strongly Agree Agree 14 77.78 % Agree 2 11.11 %				
he course syllabus is detailed enough to be helpful. (Not Answered) Strongly Agree Agree 2 11.11 % 2 17.78 % 2 11.11 %	5.00	Total Bassaras		
(Not Answered) 2 11.11 % Strongly Agree 14 77.78 % Agree 2 11.11 %	The course cullabus is detailed answell to	-	18	100 %
Strongly Agree 14 77.78 % Agree 2 11.11 %	•	ре петртит.		
Agree 2 11.11 %				
Agree 2 11.11 %	Strongly Agree		14	77.78 %
Total Responses 18 100 %	Agree		2	11.11 %
		Total Responses	18	100 %

March 31, 2003 Page 1 of 3

Dr. Lisa Schmit LEA 520-521 Research Method/Lab Group 2 (022)

		Count	Percent
The instructor is prepared for class.			
(Not Answered)		2	11.11 %
Strongly Agree		14	77.78 %
Agree		2	11.11 %
	Total Responses	18	100 %
Students are encouraged to ask questions an classroom discussion.	d participate in		
(Not Answered)		2	11.11 %
Strongly Agree		15	83.33 %
Agree		1	5.56 %
	Total Responses	18	100 %
The instructor uses technology appropriately TV/VCR, computers, CD players, etc.)	. (i.e., overhead,		
(Not Answered)		1	5.56 %
Strongly Agree		16	88.89 %
Agree		1	5.56 %
	Total Responses	18	100 %
The instructor clearly explains course expect assignments. (Not Answered) Strongly Agree Agree		5 11 2	27.78 % 61.11 % 11.11 %
	Total Responses	18	100 %
The instructor gives grades according to thes	se explanations.		
(Not Answered)		5	27.78 %
Strongly Agree		11	61.11 %
Agree		2	11.11 %
	Total Responses	18	100 %
The instructor returns assignments and tests period of time.	in a reasonable		
(Not Answered)		5	27.78 %
Strongly Agree		12	66.67 %
Agree		1	5.56 %
	Total Responses	18	100 %
The instructor provides useful feedback on stidentifying strengths and weaknesses.	tudent progress,		
(Not Answered)		5	27.78 %
Strongly Agree		12	66.67 %
Agree		1	5.56 %
	Total Responses	18	100 %

March 31, 2003 Page 2 of 3

Dr. Lisa Schmit LEA 520-521 Research Method/Lab Group 2 (022)

		Count	Percent	
he instructor seems to be genuinely intere tudent achievement.	ested in teaching and			
(Not Answered)		5	27.78 %	
Strongly Agree		11	61.11 %	
Agree		2	11.11 %	
7 g. 00				_
	Total Responses	18	100 %	
The instructor is available for conferences a of class session.	and assistance outside			
(Not Answered)		5	27.78 %	
Strongly Agree		12	66.67 %	
Agree		1	5.56 %	
	Total Responses	18	100 %	
The instructor listens to suggestions from s	students.			
(Not Answered)		6	33.33 %	
Strongly Agree		11	61.11 %	
Agree		1	5.56 %	
. 9.00	Total Responses	18	100 %	
(Not Answered) Strongly Agree Agree		5 12 1	27.78 % 66.67 % 5.56 %	
	Total Responses	18	100 %	
On the average, the class begins and ends	on time.			
(Not Answered)		5	27.78 %	
Strongly Agree		11	61.11 %	
Agree		2	11.11 %	
	Total Responses	18	100 %	
The instructor makes productive use of class	ss time.			
(Not Answered)		5	27.78 %	
Strongly Agree		11	61.11 %	
Agree		2	11.11 %	
-	Total Responses	18	100 %	
The instructor is an effective teacher.	•			
(Not Answered)		6	33.33 %	
Strongly Agree		11	61.11 %	
		11	5.56 %	
Agree		I	0.00 %	_
	Total Responses	18	100 %	

March 31, 2003 Page 3 of 3

Response to Comments Dr. L. Schmit

Question:		
Comments:		

She was an excellent teacher. She made learning easy.

Lisa Schmit is an excellent teacher. Lisa is very helpful and has great interaction with students explains things very well.

The instructor was very informative, her lessons and teaching style was easy to follow and it made the class easy to understand.

Dr. Schmit was very effective and helpful made this class informative and a lot easier to comprehend the content. I really enjoyed this class and learned a lot from it. Dr. Schmit was a wonderful instructor and made it a joy to come to the classes.

Excellent instructor! Made a very difficult class very understanding. I am very glad to have had her as an instructor for this class! I am sad to see her go.

One of the best professional instructors ever dealt with. Good tutorial skills excellent display of ethics, knowledgeable professor Schmit is an asset to the LEA program.

Lisa truly is a very knowledgeable professor. She will be missed greatly. Best of luck in future endeavors.

Excellent teacher - really knows the material and is easy to help.

March 31, 2003 Page 1 of 1